

If $f(x) = \tan^4(3x)$, then $f'(x) =$

(A) $12 \tan^3(3x) \sec^2(3x)$

(B) $4 \tan^3(3x) \sec^2(3x)$

(C) $12 \tan^3(3x)$

(D) $4 \tan^3(3x)$

(E) $12 \tan^3(3x) \sec^2(x)$

$$f(x) = [\tan(3x)]^4 \quad (\text{chain rule})$$

$$f'(x) = 4 \tan^3(3x) \cdot \sec^2(3x) \cdot 3$$
$$= 12 \tan^3(3x) \cdot \sec^2(3x)$$

A

If $f(x) = \begin{cases} x^2 - x & \text{if } x \neq 3 \\ 10 & \text{if } x = 3 \end{cases}$, then

(A) $f'(3) = 1$

(B) $f'(3) = 5$

(C) $f'(3) = -5$

(D) $f'(3) = 0$

(E) $f(x)$ is not differentiable at $x = 3$

Check of continuity

$$f(3) = 10$$
$$\lim_{x \rightarrow 3} f(x) = 9 - 3 = 6$$

Not continuous
So not differentiable C

If $f(x) = \cos(3x)$, then $f^{(77)}(x) =$

(A) $3^{77} \cos(3x)$

(B) $3^{77} \sin(3x)$

(C) $-3^{77} \cos(3x)$

(D) $-3^{77} \sin(3x)$

(E) $-\sin(3x)$

$$f(x) = \cos(3x) \quad , \quad f^{(77)}(x)$$

↳

$$f'(x) = -\sin 3x$$

$$f^{(77)}(x) = -3^{77} \sin(3x)$$

$$\begin{array}{r} 19 \\ 4 \overline{) 77} \\ \underline{4} \\ 37 \\ \underline{36} \\ 1 \end{array}$$

The Linear approximation (linearization) of $f(x) = \log_2(x)$ at $x = 16$ is

(A) $y = 4 + \frac{1}{8 \ln(2)}(x - 16)$

(B) $y = 4 + \frac{1}{16 \ln(2)}(x - 16)$

(C) $y = 8 + \frac{1}{16 \ln(2)}(x - 16)$

(D) $y = 4 + \frac{1}{16 \ln(2)}(x - 2)$

(E) $y = \frac{1}{16 \ln(2)} + 4(x - 16)$

$$f(x) = \log_2(x), \quad x=16$$

here $x=a=16$ ($\frac{a}{b}$)

$$\text{So, } f(a) = \log_2 16 = \log_2 2^4 = 4$$

$$f'(x) = \frac{1}{x \ln 2}, \quad f'(4) = \frac{1}{8 \ln 2}$$

$$\Rightarrow y = f(a) + f'(a)(x-a)$$

$$= 4 + \frac{1}{8 \ln 2} (x-16)$$

A

The tangents to the curve $xy - x^2 + 12 = y^2$
are horizontal at the points

- (A) $(4, 2)$ and $(-4, -2)$
- (B) $(2, -4)$ and $(-2, 4)$
- (C) $(0, -\sqrt{12})$ and $(0, \sqrt{12})$
- (D) $(-\sqrt{12}, 0)$ and $(\sqrt{12}, 0)$
- (E) $(2, 4)$ and $(-2, -4)$

Tangent are horizontal $\rightarrow m = f'(x) = y' = 0$
الوتر = صفر

Implicit
diff. $\left\{ \right.$

$$xy - x^2 + 12 = y^2$$

$$xy' + y - 2x + 0 = 2yy'$$

$$\boxed{\text{let } y' = 0}$$

$$y - 2x = 0$$

$$\boxed{y = 2x} \longrightarrow$$

عوضها
بالعادة
المطلوبة

$$x(2x) - x^2 + 12 = (2x)^2$$

$$\underbrace{2x^2 - x^2}_{x^2} + 12 = 4x^2$$

$$3x^2 = 12$$

$$x^2 = 4$$

$$x = 4 \longrightarrow y = 8$$

$$x = -4 \longrightarrow y = -8$$

\boxed{A}

If $f(x) = \cos^{-1}(x^4)$, then $f'(x) =$

(A) $-4x^3 \sin^{-1}(x^3)$

(B) $\frac{-4x^3}{\sqrt{1-x^2}}$

(C) $\frac{-4x^3}{1+x^2}$

(D) $\frac{-1}{\sqrt{1-x^2}}$

(E) $\frac{-4x^3}{\sqrt{1-x^4}}$

$$f(x) = \cos^{-1}(x^4)$$

$$\frac{d}{dx}(\cos^{-1}x) = \frac{-1}{\sqrt{1-x^2}}$$

$$f'(x) = \frac{-1}{\sqrt{1-(x^4)^2}} \cdot 4x^3$$

$$f'(x) = \frac{-4x^3}{\sqrt{1-x^8}} = \boxed{D}$$

If $f(x) = \tan^{-1}(2x)$, then $f'(x) =$

(A) $\frac{1}{1+4x^2}$

(B) $\frac{2}{1+x^2}$

(C) $\frac{2}{1+4x^2}$

(D) $\frac{2}{\sqrt{1-4x^2}}$

(E) $2(\sec^{-1}(2x))^2$

$$f(x) = \tan^{-1}(2x)$$

$$f'(x) = \frac{1}{1+(2x)^2} \cdot 2 = \frac{2}{1+4x^2} \Rightarrow \boxed{C}$$

If $f(x) = 5^x + x^{22}$, then $f^{(67)}(x) =$

(A) 0

(B) $(\ln(5))^{67} 5^x + 22!$

(C) $\ln(5) 5^x$

(D) 5^x

(E) $(\ln(5))^{67} 5^x$

$$f(x) = 5^x + x^{22}$$

$$, f^{(67)}(x) = ?$$

$$5^x \xrightarrow{f'} 5^x \ln 5 \xrightarrow{f''} 5^x \ln 5 \cdot \ln 5 \left(5^x (\ln 5)^2 \right)$$

$$f^{(67)}(x) = 5^x (\ln 5)^{67} \rightarrow \boxed{E}$$